Adda@7

1. wmﬁmw@'m’lﬁﬁm%mvﬁfﬁwﬁﬁ
qﬁgﬁamm%a‘rsﬁﬁmmﬁmm%?
1) A
@ aieifirn &

" 3) e &
@ B iRED s
(5) ST <

B; nwméﬁmﬁﬁﬁwﬁaﬁj#mﬁm
g et o i

M) TR ;
(2) SEAR Lo

(4 Indore

3. Which of the following is net part of the

Al Panchayati Raj system in India ?
(1) ' Zila Parishad

' (2) Gram Parishad

 (3) Gram Sabha

(@) Gram Panchayat

i (5) ~ Not attempted

Where is the National Gallery of Modem ¥

fih located? | _

(1) = New Delhi
' (2) Kolkata

Qen natural prod
ucts ar
c
forms through wayg of " hange into
known as : i Cturin T
8 it is

(1) Tertiary sector
(2) Industrial secty,
(3) Primary sector
(4) Secondary secty;
(5) Not attempted

In which district of ),
Khajuraho Group of Moy,

(1) Chhatarpur
(2) Jabalpur
(3) Gwalior

hya pr
adesh
Ments 1()C?“:ed,;‘are

(5) Not attempted

(@) Mumbai
i @) Nagpur
i \‘(‘5)‘ Not attempted
Whorm did India beat in the Finals ofA** )
One Day Cricket Tournament held in 7" (
20232
(1) . Sri Lanka
(2) 4 Nepal
_ (3) Pakistan
) T (4 Bangladesh ¢
(5) TRAGTNERT (5)  Not attempted 4—//
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6.

g T+ e o o Iviie e & o S

6. In which year did the United Nations adopt
Wfﬁ?ﬂﬁé@ F T ? the UN Guidelines for Consumer Protection ?
(1) 1985 (L) 1969
2) 1990 (2) 1990
(3) 1986 (3) 1986
(4) 1987 (4) 1987
() ST < AR (5) Not attempted
- . & _)
S ST o 7. Where is Salar Jung Museum located ?
1 = (1) Mysore
(@) (2) Goa
(3) T (3) Bhopal
@ TR (4) Hyderabad
(5) SWTE S I (5) Not attempted .
A TEPR| o R & i Heri W foen 8. Consider the following statements about
T FIF T FI T TG § 2 Democratic Governments. Which statement
(1) T B A ded & w9 H (= mot corrcC iy
; ﬂ'ﬁﬂ%l (1) Democracy is also known as
> 5 tative democra
2 e . EF"T e represen cy-
(2) Democracy guarantees universal adult
&l i L franchise
(8) e H AT hi T el =61 Feifad Eas! (3) Indemocracy people have power to elect
1 AR T R 1 their leaders
U T'Séﬂ?” EW:EH %F\‘Tﬁ %ﬁm_ .(4)' Democracy is also known as Oligarchy
(5\ TR el a:na-@ : g (5) Not attempted
9. Y= H ‘e Ug' o FEl AL ? 9. Why Earth is called the ‘blue planet’ ?
(1) s 39N Sireq 21 (1)  Because it has life.
@ Hifs Yot &1 91 whve J i q]:ﬁ —g (2)  Because more than 91% of the Earth is
A covered with water.
(8) Because it is blue in colour.
3) Hifw gwa W =ﬂar
L il ‘ (4) Because more than 71% of the Earth is
~ covered with water.
I € 2 (5) Not attempted
(5) I im ‘ﬂra% | _
10. In which year did Gandhiji arrive in India f
10, Tnﬁ‘rﬁﬁmmﬁmﬁfmaﬁﬁmm South Africa ? BN
g7 (1) 1917
/(,): 1917 @) 1921
3 1907
ﬁ T Tﬁ 27 =T (5) Not attempted
NTV/F2 T 1Y % fe7u 2Tl | SPACE FOR ROUGH WORK
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12. Correctly

l'igj;@’.‘f
‘Maha

)& Nij

E‘
-

e

—

—

F\\
¢

1)  (A)-(II), (B)-(II), (C)-(v), (D)

{I11), (C)-(In), (D)
, (C) (IV), (D)-(tm)

=TT T o T T 2~
AT 999 3Ti4eh © 2

1T ST § 2 \ 14

Banyan |

(2) Willow f



b EZTW T SIS S 3ot e 3 ferrge fordt &
Afeensll g s s ¥, fra e

we H e B &
(1)  fore
(2) e
@) el
o T (e
(5) ST TE T T
16. & WISl S ot fereer W A G A wew &9 E 4
o R SO R i) |
(1) S
(2) 3T A AR
YA
@) &=

(5) SR AE oAl =ed

17. T 3 TR 6 WA A S ©

(1) 98.4°C
iy 98c
(3) 35°C
(@ iBEsE
(5) SR el &l =ed
18, Frefefan & | @ TR 3 o o H HerE
%2 e .
(1)
/{,2) e T IR
3) ferreifer
4) T T HITRT
(5) TR & AR

Jo. it i e T A B 2 |

15.

16.

17.

18.

19.

Khabar Lahriya, a newspaper Tun by "’,ght
ot dIBtHCtr

Dalit Women in Chitrako , 1
Uttar Pradesh, comes out in which loca

language ?

(1) Pishoni
(2) Awadhi
(3) Bundeli
(4) Tulu

(5) Not attempted

The substances which turn red litmus into

blue are in nature.
(1) Neutral

(2) Acidic or Basic

(3) Acidic

(4) Basic

(5) Not attempted

The normal temperature of human body is :

(1) 98.4°C
(2) 98°C
ig)l i85°¢

&y 377C

(5) Not attempted

|

Which of the following helps in clotting of
blood ?

(1) Platelets

(2) White Blood Cells

(3) Haemoglobin

(4) RedBlood Corpuscles
(5) Not attempted

Which is the most common carrier of
communicable diseases ?

(1) :;I;—W (1) Dragonfly

(2) e (2) ' Ant

@ = (3) Housefly

(4) FaHFaEl (4)  Fruitfly

(5) o AE & AT (5) Not attempted i
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20. 3 o
TSl s us oy e A @ 0 St € 52 | 20. Species found only in
Fey ¥ known as : B @ Day,
(1) Tewergs (1) Endangered "
/(.2) s (2) Endemic
(3) Tew (3) Rare
) (4) Extinct
< ) (5) Notattempted
(5) W TE I =
: 21. Select the non-
21. Treforad & ¥ 3141g 1 =T B : (1) Iron ot
(1) = (2) Sodium
(2) Hfsaq {3) Sulphur
A3) W (4) Copper
(4) e ‘ (5) Not attempted
(5) ST TRl A1 = .
22. Match the items given in ¢
22. e - 13 few Te #E) 1 hrem - I H g T A e A
1Y gafed SIS | ;
- i (A) Chloroplast (I) Llegt
(A) TR I)  ReHGR Ut (B) Rhizobium (1) E::'
(B) (11) qLsie] aren (C) Cuscuta (I11) Lea;‘
(C) TS (1) T (D) Pitcher plant ~ (IV) Ing
ﬁ:h_ﬂ l It
% 1 i i A7) reseft e Choose the correct options bc}a)l;ry
ferehed L : (1)  (A)-(1), (B)-(11), (C)-(IV), (D}
(1) (A)-), B)-1), (©)-aV), P)-0 o
) i, . (O, oo R O o
(3) (A)-0L (B)_f_([)zgk(%%l%é%),(;m , @) (A)-a1), (B)-[), (C)-(), O
) (Al-qﬁ,_g)%i o)1), (D)-(v) g l(:?)-(lm, (B)~(1), (C)-(1), (DA
(5) 3L ot attempted
23. A -1I 7 few 7T A€i I hTeH - 1L # fmmurer | 28 Match the items in Column - I+
o ey o A0 - Column - II :
I I . d
' (A) Typhoid @y v
(A) feramg] e r
o T T e
© T 1) STy (D) Wheat rust av) Po°
(D) ﬁiﬁ V) TSI Choose the correct answer f
ﬁﬁqmﬁﬁﬁﬁaﬁmaﬂwaﬁﬁq; below : 4
1) (a)-un, B)-D, (©-0V), )0 (1) (@)-am, @)-a, ©-
(2) (A)-(1), (B)-(111), (C)-(11), (D)-(IV) ‘ (2) (A)-(D), (B)-(I11), (c)_(II), (DH;]
(3) (A0, (B)-(1), (C‘-,{IVI (D)-(IV @) (A)-a, @®)-), ©-0 O
mbffg‘:gfgjggla! -(IV), ““@9} @)  (A)-(11), (B)-(1) (c)_([V), ore
(5) 4 (5) Not attempti//
<5 @1 o 1T Z2ITel / SPACE FOR ROUGH WORK
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If a body covers 100 km in 5 hours its speed

: x 24.
24. ﬂﬁ@ﬁ@momﬁ@saﬁﬁmm%ﬁ ke
R —_‘a’ﬁl _ (1) 20 km/hour
A7) 20T /5 \ (2) 500 km/hour
(2) 500 feHL. /= (3) 20 meter/hour
(3) 20 die/s (4) 20 centimeter/hour
(4) 20 ¥/ E (5) Notattempted
(5) SR TE o = |
25. . Which is the best conductor of heat from the
25, frafafaa § § HF-T1 S o1 R S e € 7 following ?
(1) < (1) Silver
(2) Aluminium
2)  ITHIER
(3) FS EEm
b el (4) Kerosené
e attempted
(5) SR I =Rd
: 26. Night blindness is caused due to the
26. ta*ru%______ﬁmaswzﬁr%l Bl e b
(1) feefmc (1)  Vitamin C
(2) feafD (2) Vitamin D
(3) FfmA (3) Vitamin A
4 fofEB  (4) Vitamin B
(5) SR A IR (5) Not attempted
o7. fao=zaayg ARt = Hede o HIEH J g | 27. Cockroach breathe through network of air
g o< ; pEr SidL el o ' tubes called _
@) & (2) Stomata
i i} (3) Gill
}ﬂ (4) Trachea
.3 , ' (5) Not attempted
(5) ST <Al R ;
28/FF< g 3 B 3 e 2 TR &7 28. gi/:ei;ile o;' the following is mot a deficiency
- AD) w o (1)  Goitre
(2) A (2) Scurvy
(3) eiicell (3) Anaemia
4) wefE (4) Malaria
(5) ST S =T (5) Not attempted
Page 7
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29. ﬁﬁﬁ%ﬁﬁﬁaﬁﬁmmmmmm%?

29. The planet which appears reddish in coloy,

(1) NED 18 @
e (1) Venus
(2) Mars
3
S (3) Earth
SN (4) Mercury
() S| ==

(5) Not attempted

30. IO - I ¥ U T W ) wwrem - I, # fow o e

30. Match the items given in Column - I With
= T Rfe = those in Column - II :
I- (9= 3i) II - ( feram) I - (Digestive Organ) II - (Process)
= (A) Small Intestine (I) Chewing of fogq
e j;ﬁ Sﬂvﬁ\ SRR (B) Large Intestine (II) Churning offoqq
B) > X ST 7 forette (C) Stomach (III) Absorption of
C) - N (IIT) SIS T STesIHY] food
@) T (IV) ¥t 1 S (D) Mouth (IV)  Formation of
& e 3T : faeces
(1) (&)@, B)-av), (©)-(), O)-) Choose the correct options below :
~AT B, @), ©-m, - () -, B)-0V), (©)-0, P)-
)  (A)-@V), (B)-(1), (O)-(1), (D)-(I) (2)  (A)-@m, (B)-v), (C)-(1), (D)-(1)
@ (A)-@V), B)-), (C)-(), (D)-() 6 A-@), B)-), (©)-O), O)-a
(5) SW I * =ed . (4)  (A)-0V), (B)-(1), (C)-(1wy), (D)-(11)

5) ‘Not attempted
31. YA 3R 39 a1 < Freewd (1) 3t () o

fou U el 1 W A §U IR S W9 9 | 81, Two statements are given, followed by two
¥ fum & == 7 wdla e &, fvl ¢ 6 < g conclusions (I) and (iI).

Assuming the

h Py & statements to be true even if they seem to ¢
Tt U 1T e o STER R b 9 9 e at variance from the commonly known facts
5 /ﬁﬁﬁﬁ%l decide which of the conclusions loginllly
: - ﬁ Tt ¥ follow(s) from the given statements.
- gl &) Stafements :  Some dogs are fishes.
: o A £ s Slome fishes are birds.
ns : irds:
frred L ey :I)n Some dogs are birds
_ Some bird dog®
(1) o (1) AR (1) A e € (1)  Both i .
. e - u — 0 conclusmns (Y) and (II) follow
.Jg/ A it fed (1) ST A K_)_J!?‘ﬁ T | ) Neither conclusion (1) nor (1) follows
(3) aac e (1) e €| () Only conclusion (1) follows
(4) ae fshd (1) et & (4)  Only conclusion (I1) follows
(5) T A Hed (5) Not attempteq
T % i & fo1e 2211/ SPACE FOR ROUGH WORK page!




32. 9 fasheq 1 997 H S AR 75 | S YR Heited

2 O S0 1< RS T § g 1
W:W::“{gﬂ;*?__
(1) W
(2) CREES
@
4 =T
(5) S TR o =R
33. foud o1 =99 i)
(1) Ten
() @@
() IR
EaE]
(5) ST T =Aw

34. < SPISH PR 3 T A svorer s § fean

2 SeaRl ¥ 39 HANH T 99w e SR
3TER} I G ) W TH S0 g o |
. NS S AT G
e 2k 3 GbAE 58 5i6
(1) 3,5,4,2,6,1
2,6,3,1,4,5
@) 5,4,2,1,6,3
4 3,5,6,2,4,1
(5) SR T < ARd

35, fz UF Fifda FEOS F MUSSOORIE’ i

‘OTURQNTHG’ fer@1 vl 2, il SHt esmT |
DELHI’ &1 =71 feran s ?

32.

33.

34.

35.

Choose the option which is related to the thir‘d
term in the same way as the second term 18
related to the first.

Mosquito : Malaria: : Rat: __?

(1) Rabies
(2) Typhoid
(3) Plague
(4) Dengue

(5) Not attempted

Find the odd one out.
(1) Sparrow

(2) Parrot
(3) Pigeon
(4) Kiwi

(5) Not attempted

A set of English letters is given below in a
jumbled order. Select the combination of
numbers so that the letters arranged
accordingly form a meaningful word.

A N S BEA RN G
2 3 4 5 6
1) 3,5,4,2,6,1
2 2,6,3,1,4,5
(3) @574, 251¥6, 8
4 3,5,6,2,4,1
(5) Notattempted

If in a certain code language MUSSOORIE?’ is
written as ‘OTURQNTHG’, then how will
‘DELHI’ be written in that code ?

(1] FCNFK (3} FCNFK
(2) FCNGJ (2) FCNGJ
(/(}; FDMGK (3) FDMGK
(4) FDNGK (4) FDNGK
(5) JM 7 21 =ed (5) Not attempted
HANTY | F2 2% @i % feTe 22 | SPACE FOR ROUGH WORK e
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36. 9 R T T e A TUyE A s | | 36. Read the following information to answer y,
A*Baﬂaﬁf%,‘B A%Hﬂé%'l question below :
A$Bm3m%;‘/\,83ﬁq?ﬁ%’| A * B means ‘B is the brother of A”.

‘A is the wife of B’.
A # L , A % B means A 1S
FBH T ‘B AT qRE| A # B means B is the son of A"

TIPS Q*R# S'%, @ = fean w1 W wyA If P$Q* R # S then, which of the folloyp,
Wb statements is true ? 5
()R, Q fm ) (1)  Ris the father of Q
@S o i # (2) S is the nephew of Q
@) S, PHRER (3) S is the son of P
Pl & L (4) Ris the father-in-law of P
(5) SWE & ERY (5) Not attempted
R P ﬁ‘@ﬂqa S 1 T FIT 37. Find the missing term __?  in the series.
G 1
125, 2575, " 1P e £l 1
> ) b I ) ) 5 ? i Lo
1) =i i e e T DT
2y =2 (1)t
e L) @ -2
e | @) 2
(5) ST TE < =R .
38. TRAI24 m IR=H H SR @ & 915 T ST A (5) Notattempted

24 m TeTdl & 39 IE IE 9 ST gt © 3R 16

8 : 38. Sarita walks 24 m towards West, then turns
m T T 1 T T A ST TSR 24 m Fewil & | to her right and walks 24 m and then turns

it 31a 319 TR foig & ferat 5T qen ferg fomm her left and walks 16 m. Again she turns

TN her left and walks 24 m. How far and in which

747 ekl s el S
Lk irection is Sarita from her starting point !

(1‘)_ | 40 le, (1) 40 m, North

B @) 40 m, West
(3) 32m,3W ~ (B) 32m, North .
(4) 48m, RIEED| (4) 48 m, West
(5) SR el <A A (5)  Not attempted

39. @EfEP, Q,R, S, T U IHH XYL HTh Th

L 39. SixfriendsP,Q,R, S T dingi#
5 : SR AT R SR, 5, Tand U are standis
fe # @ €, A ATED ik a row facing North but not necessarily in ¥

P % a SR ‘R’%Eﬂi"%.l Q’, T’ & T TRt same order. P’ is to the left of T’ and to ¥
Q) a; a-l-q{'% 3ﬂ—{ ‘S’, "U’%a'ri aﬂ—{ %l ‘Q’ %q@_ﬂ:ﬁ f]%:lthf ‘R" ‘Q; iS on the nght of T but 10 f_he
eft o

Lof 'S’ who is to the left of U?. Who are
neighbours of Q’ ?

(1) TandS
(2) PandR
(3) TandUu
4) PandT
(5)  Not atte
Aismpted -
HANTY / F2 % @1 o 618 22/7e1 / SPACE FOR ROUGH WORK page



40. Rt 7 ST FRdt HE &% AR AR 1 R
<t T 7 Shen i WER B Yeen WER € | fie

¥ Sfes &1 i F e ?
() SR
@ .15
_&) 23
(3) 21
(5) SWTE I W
41. (0.5x0.5+o.5+5)w%:
(2) 0.45
(3 0.15
0.25
(5) SR TE o =ed
42. SHEENS 2p, 5pAI7pH LCM. ®:
(1) 75p
/@1 70 p
4) 65p
(5) ST E < =red
43. TFEIM R 3%% ElL RS 2% T ST HIER0
FHT210%7
M 72,800
(2) 2,500

(3) %1,580

( a=n ed

44 ﬂﬁaambafﬂﬂm%,aﬁﬂﬁﬁaﬂﬂ—mw
g7
(1 a+0=0+a=a
(2) a-0=a#0-a

(3 at+b=b+t+a

—

a—b=h—a

(5) FAUAE & AwRd

40.

41.

42.

43.

44.

Priyanka’s birthday falls on the third Friday
of a month. The fourth day of that month is
the first Monday of the month. What is the
date of Priyanka’s birthday ?

(1) 22nd
(2) 15th
(3) 23t
(4 21st

(5) Not attempted

(0.5x0.5+0.5+5) isequal to:

(i) SE0:35
(2) 0.45
|l0,15
(4) 0.25

(5) Notattempted

' The L.C.M. of three numbers 2 p, 5pand 7 p

1S :

(L} oD
(o) T0 D
@ 70p
4) 65p

(5) Not attempted

For which sum, the simple interest at the rate

3 ' 1
of 3Z% per annum will be ¥ 210 in 25 years ?

(1) %2,800
(2) ¥2,500
3) %1,580
(4) 2,400

(5) Not attempted

If a and b are two distinct integers, then which
of the following is incorrect ?

(1) a+0=0+a=a
(2) a-0=a#0-a
(3) atb=bta
(4) a-b=b-a
(5) Not attempted

HANTV / F2
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45, : .
gﬁ“ﬁ;ﬁﬁ‘mﬁsﬂwﬁmﬁamwﬁ?
by S’Imaﬁ{ﬂimn%ngmﬁaﬁg#m

. T 91 o TR ST T g @
LR TE [
2. 2:3
R |
4 5:11
) SR I

46, wwmaﬂm@ﬁm#%%ﬁ;w%
e W e e § o ¥
(.1) 13:8
RS
3)~10:13

/(4)/8:13
(5) S < =Ry

47. 10mx1omx5mﬁmaﬁaﬁwﬁﬁ@wm
Il T § T BT e
(1) 1042 m

/({) 5\/-3_m
() 15V3 m
Sa)e 15 mis
(5) ST TRl o =ed

48.

fopa ot §, 800 i TRT 10% A1fich TshdlG SATST
FI W, T 926.10 B ST Tofch AN Ui SHE
I BT € 2

45.

47.

48.

R

A certain number is divided into (y, :
such that 5 times the first part acde hl,lm
times the sccnml‘pm-t IllHk“ttH i timey Hlu
number. The ratio of the first pary to lI“v
second part is : I
R

@) 2i9

(S il

(4 5:11

(5)  Not attempted

Half of a certain number is equal to 5, i
the second number. The ratio of the f,,
number to the second number is :

(L) ST
(2)NT3 0

(3) 10:13

4 8:13

(5) Not attempted

The length of the longest rod that can be place
in a room of dimensions 10 mx 10 m x5 mis:

(1) 1042 m

2 5/3m

@) 153 m

4) 15m

(5) Not attempted

In how many years will a sum of 800 at 10%
PEr annum compound interest, compounded
semi-annually become ¥ 926.10 ?

1 1
) 25 ¢ (1) 2§ years
2 2—1- EL| 1
2 : ) 25 years
CI
3 Years
1
(4) 15 years
(5) Il & <ed () Not attempteg
PR 3 1l # feTC 2t | SPACE FOR ROUGH WORK W




f ] g ] . I
49, 20 litres of a mixture containg milk and water

49. 20 ST gH a0 et A fagor W gy e wfl s
J N . y i Fig the ratio 3 ¢ 1, The amount of milk to be
- L1 Srsqur W fERTT T dﬁ B S n mount of milk to b
I 3: 1 el 79 figm Y o g4 St =1 ‘"1- added to the mixture so as to make the ratio
o T8 ST 4 ¢ 1 B S 4:1, i
) 5 el (1) 5 litres
(?) 6 _E_V_ﬁ?_.I (2) O litres
: (3) 7 litres
3 7 TR
e (4) 4 litres
(4) 4R (5) Not attempted

(5) S E & e
0.2 ¥ 0.2 + 0.01

. 4 ificati f jives
50. Simplification of Z=——=— "5, 7

(s 'f . J ‘]
0.2 x:0.2 + 0.01 o oy oy o, st A0

0. 5.1x0.1+0.02
/ 1 i]'
/n/ W
9
9 (2 W
@ 3
; h E
B =
@) 41
41 19
i 12
@ 12
(5) Not attempted
(5) W TE < <R
4 51. If the selling price of an article i z ti it
- cle is = times its
51. =fe foredl g a1 Torshr et Seh 3 H&A BT 5 T _ 3
) cost price, then the profit % in the transaction
%, A 79 W § oy wiawe © is
1) 25-% (1) 25 %
2 2
g ) 331%
3
2 2
3 16 =% 16 =%
( ) 3 0 (3) 3
(4 2019 4 20=%
2 2

(5) = A & = (5) Not attempted

HANTY / F2 2t @1d 2 feru zane / SPACE FOR ROUGH WORK Page 13




I ReGAESLT ____

1 ;
52. ATEH TR @ ) T 101%,31?3;;%%’ B 3t 82 Acandog:ofaworkml()days, Bcanclr),h
I H 40% W '
20 e e & wefer ¢ weft
|
1 i in 20 days and C cando .
FH < W 13 et & o e 81 A 5w SHETRE ’ | 35
: ho can complete the
7 ~ work in 13 days. Wh >wh
E{) Cﬁmmwﬁmw%? work in minimum time ?
: (1) ¢
Adyr
3 A cr (2) = Aand C both
4 B _(3) A
; 4 B
(5) SWT W
b (5) Not attempted
53. : . =p .
?Tﬁ.'b(a+_b) -%\Eb?;d i (c+a)=6 : 7 : 8 a4l | 53. 1f (a+D) : (b+c) : (c+a)=6 : 7 : 8,
atb+c=14% Wc¥: a+b+c=14, thencis:
(1 8
(1 8
2
:3; é4 ‘ 2 14
- 3) 6
; 4 7
(5) IR <A R i
(5)  Not attempted
54. A, BT C 7 fietst T =R ¥ % 50,000 T | S . |
afs A3 B W T 4,000 S @A BICH | o0 At‘?gether invested ¥ 50,000 in
o - o g SS. invested ¥ 4,000 more than
¥ 5,000 AMEeh oY, € X 35,0 K and B invested ¥ 5,000 more than C. Outo
AH VTR total profit of ¥ 35,000, A received :
] 213,600 (1) 13,600
(2) 14,700 (2 %14,700
(3) ¥8,400 (38) 8,400
4) T11,900 (4) 11,900
(5) R T A Wed () Not attempteq
55. TF FW 1;@ # 90 et wert §1 /s A | 58, A clilr 8oes 20 metres in a second. Its P
s 7 i km/h is -
(2) 20 (2 20
3 18 3 18
T2 . 4 72
(5) S AR el Bl (5)  Not attempteq
HANTV | F2 ¥ o1l o fe1u 2emret / SPACE FOR ROUGH WORK oot



6. Choose the alternative which best expresses

the given sentence in Active Voice.
will be sent today.

The. invitation cards
)/Y)/They will be sending the invitation
cards today. _

2) They will send the invitation cards

today. ;
3) They will sent the invitation cards today.

4) They will have sent the invitation cards

today.
(5) Not attempted

7. Choose the most appropriate alternative to fill
in the blank. ’

The noise comes from the river.
(1) over

,(2] across
(3) against

(4) Dbesides
(5 Not attempted

8. Find out the correct indirect speech of the
following sentence. ; -
He said, “Do you know German ?”
(1) He asked me if I knew German.
2) I asked him if he knew German.
/(,3‘)' He asked me to know German.
(4) He asked me if he knew German.
(5) Not attempted ;

0. Find out the part of the sentence which has
an error.
If he is a millionaire  he would help
(a) (b) |
the Millennium Project in the future, .
(c) (d)

(1) (©

61. Pick out the synonym of the underlined word
in the following sentence.

The cellphone industry has ushered a new
phase of communication.
(1) heralded
(2) _collapsed
~ completed
(4) given up
(5) Notattempted

Fill in the blank with the appropriate option
given below.
If you no confidence in self, you

are twice defeated in life.

62.

/&'] have
(2) having
- (3) - has
(4) hadnot

(5) Not attempted

Choose the alternative which best expresses
the meaning of the underlined idiom.
He had to confess his crime because he was

63.

caught red handed.

(1) _Caught very late
<~ Caught while doing the crime
(3) Caught sleeping
(4) Caught easily
(5) Not attempted

64. Pick out the correctly spelt word.
'/(,1/)" minipulation
(2) manipeulation
(3) manipulation
(4) menipulation
(5) Not attempted

(2 @ <
@ (2 '
@ (O 65. Choose the most appropriate option to fill in
5) Not attempted the blank.
Many beggars sat the wall of the
0. Find out the antonym of ‘absurd’. temple.
(1), sane (iieleng
ﬂ/’ refuse A4 in
(3) silly (3) on
) anxious (4) Dbesides
5) Not attempted (5) Not attempted
HA
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66. frfafi: _ N
©R? mmﬁﬁmmaﬂmm 71. Freifed foemed 8 8 T W B o 5,
() ¥ 5t ;v =y g o (;) :i
() T 5 v o @) =
(5) W & W (5) T M W
fere, waffeh s v & (1) Tor fereg A 2
AR 2y e T e
(@) foreamrerd (3) I IR WO Y o heft
i - (4) RO R, 7 B
; (5) ST & Hed
(5) ST ST ART
‘ 73. fou T form Wi 1wl s T @2
68. ‘T sreTST ot TRy ¥ el & | “w/
W?WW%WW@WW o T
TR : o s
S @) S9d
i (5) SR < =R
By W@
(4 74. W SR T foai e < el T
(5) SR TR & e % .
’ doll
69. ‘m%wﬂtm’@ﬂaﬂsﬂaﬂm%; ” hﬂ:;
(1) dRTAHGE i Se
2) 2t g T iRt ¥ SRl -
(3) o UreHH FTT i s
7~ g aAfyen o Tl 5 I ey
5) S T o ded |
(5) | 75. Swﬁa—mﬁmmwgﬁw
70. ‘mﬁ’mﬁmﬂaﬁwwﬁfa—ﬁﬁa%: 1. \
(1) o+ (1) ' g
T + 4 (2) W%Wﬁm
@) w+wd (3) mmq_@%
(@ u+Td M T s
(5) I A & ed (5) T
HANTV / F2 7 @1l % fofe T | SPACE m
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7.

er Tta S TiE @S % TRl

g #

b & TR fe T b e feRe T ?
5,300

(2) 4,200

(3) 6,500

(4) 6,000

(5) R T M =

nﬁa‘lﬁlﬁﬁ%ﬁ@ﬁﬁ’aﬁﬂ%ﬁduﬁﬁmﬁf@ﬁm
R foeR =T -

(a) g 7@, BT ¥ feerd

o T dATEd s

S B @ BT/ Y I T ¢/ 7

(1) (a) 3R (o) I

(@) AT (a) ARAR (b)

76.

77.

How many villages are approximately covered
currently under the scheme ‘Mahara Gaon -

Jagmag Gaon’ in Haryana ?

(1) 5,300
(2) 4,200
(3) 6,500
4) 6,000

" (5) Not attempted

Consider the following statements in respect
of Motilal Nehru School of Sports.

(a) It is situated in Rai, Sonipat.

(b) It is affiliated to CBSE.

Which of the above statement/s is/are
correct ?

(1) Both (a) and (b)

(2) Neither (a) nor (b)

(3) (a) only

FHed (a)
(4) e (b) (4) (b)only
(5) SW & &1 =ed (5) Not attempted
8. SR it UMH SAHES T4 HI FA e & | 18- What listifhe ap?riﬁimaétet plercentagle to_f ruraiﬂ
o)
FATST el W © 2 II-)IaI:;Ia;al?on ofgithieitotalipopu_ation o
(1) 50% (1)  50%
o0 2) 45%
i oz 3) 65%
(4) 55% i
5) IR TE & = :
% (5) Not attempted
79, e 2R RA 1 faerd 37 % g 9fes dgar : _
B LY, 79. Bhainswal Kalan, famous for giving sportsmen
e ¢ to Haryana and to India is situated in which
\})f) fyarT district ?
(2) EFTa (1) Bhiwani
(3) imaw (2) Sonipat
4 (3) Rohtak
9, 3 y (4) Karnal
(5) W & e (5) Not attempted
Page 17
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80. ﬁﬂ%ﬁéﬁﬁ@ﬁ—wmwﬁqmﬁ

et & fog < s @ 2
)g/ KRGl

T (2) YRER
Sas BRI I

(4) TEH
(5) ST Al TRd

81. frfafad el W foaem Hifs |
(a) HEH ST oret i 4 2
(b) e sty SR 7 feuq 21

S & F- w2
() 31 (b) QW

2) T (a) SFRAR (b)

(3) I (a)

(4) e (b)

(5) SR TR o =

82. Wﬁﬁﬂ?—mmmwwﬁ%?

)y E
g

(3) drert
(4) T
() IR A W A
g3, efamn faFe s o T 517
1971 -
@) 1963 \
(3) 1962 |
4) 1966
(5) WA < =ed
g4, o i fooc fase W A CER]
(1) 92 :
2) 94
(3) 88
90
(5) T o e

| 84.

e following places is

. Which oné of th
i Hockey players ?

for Indian Women
(1) panchkula
(2) Shahbad

(3) Faridabad
(4) Gurugraiil .
(5 Not attempted

81. Consider the following statements.

(a) Masani barrage is in Rewari dist;.
() Kaushalya Dam is in Pinjore.
Which of.the above statement/s s
correct ?
(1) Both(a) and (b)
(2) Neither (a) nor (b)
@) (a)only
@ (bonly
(5) Not attempted

82. Which of the following is not a dance forr

Haryana ?

(1) Loor

@) Khoria
~ (3) Talghadi
(4) Phag

(5)  Not attempted

83. In which year Haryana was made as @ "

fledged State ?
1) 1971
(@) 1963
B) 1962
4) 1966

()  Not attempted

HOW man V. ,
there in }gar;iiznpsabha Constituencies

(1) 99
) 94
B) &8s
4 9o
) Not attempteq
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'aﬂ?#ﬂ%@maﬂﬂ%gﬁgﬁﬁ 85. Who amongst the following former UPSC

i
a T S srefter ST A sfuT g;;;:grs was an IAS Officer of Haryana
37 ‘ (1) Mata Prashad
(A (2) Subir Dutta
,9/ ekl (3) P.C.Hota
@ @ L (4) S.K. Mishra
) Wlﬁ; BN (5) Not attempted
Gy s
6. froan A el s ~hon e
T (1) The Yamuna system
(1) ETITETUTIF?T : _ (2) The Indus system
L) R i (3) The Bhakra system
) mg:];:ﬁ . (1§ It T (4) The Lift system
@ IS : ‘ . (5) Not attempted

(5) SRR o =ed

87. Which one of the following districts of Haryana

37, TreAtarEd ¥ § gawn F 1 e dee ST
P shares border both with Punjab and

W?W@WWW%? | ~ Rajasthan ?
(1) TR 5 : (1) Hissar
o fown | : (2) Sirsa
(3) FuA | o '(3) Kaithal
4 f ' ' : @ Jind:
(5) SR T o = i1t (S) Not attempted
88. EREMN 1 T 9 FIA W &2 ' §
ﬂ/ﬁz | | 88. The State Animal of Haryana is :
A (1) C'ah“jel
Ly e e e,
(4) @l
o el 4) Elephant
(5) Not attempted

HAN
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ch amongst the following is not :

89. Teifeifiaa § @ #
~91 BRaT 1 yRaftE e 89. Whi :
T =i &2 5 &0l Haryana’s traditional attire ?
()~ (1) Daaman
(2) =R (2) Chorno
(3) W (3) Pagri
(4) q@; 4) Chunder ]
(5) R TE A (5 Not attempte
90. INE AT . 90. Where is Bir Shikargarh Wildlife San.
R 3 TASIIS STV AR el STafied £ 2 located ? )
(1) duga
(1 Panchkula
2) ™ 2) Karnal
(8) @ (3 Kaithal
4 Si= (4) Jind
(5) SWTE RS (5) Not attempted
91. ‘wifd I TR fosiar =1 fre 91. What is the one-time cash amount give
TR Tohg & : g
fYr <t S © 2 the “Kirti Chakra” awardee ?
L~ %75,00,000 (1) ¥75,00,000
(2) ¥25,00,000 (2) 25,00,000
(8) ¥51,00,000 (3) %51,00,000
(5) SR oA AR - (5) Notattempted
92. NI Yo e Fel S © 2 92. Where is Chink :
c/('l’)/ S, G ara b;eedmg centre locaft
4 (1)  Morni, Panchky
2 ¥ REE ) 2
(3) foroeh, Heat () Pipli, Kurukshetra
(4) feur (4) Hissar
(5) SR <A T () Notattempteg
93, ST Weiu e efarn H el e 2 93. Where is [nq; ‘
located i ndian Instityte of Manage™
(1) farart i in Haryang 5 anag
(2) :21 Bhiwani
: , K
@ e
@ TEm anchkula
: 4)  Rohtak
(5) S TEl <l e S
ot att
HANTV/F2 7 e @ fefll 22011/ SPACE FOR Roy empted
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o 3 2 e el e e SR g i

4. 94. Two most important mon
fo€? ‘The LAT and the H uments of the State
forg WM W g WA 40 whish :;aceu?mayun Mosque’ are
(1) T (1) Kurukshetra
2) SRR (2) Naurangabad
(3) THAEEIR (3) Fatehabad
Teeg (4) Mahendragarh
(5) SW =&} 7 = (5) Not attempted
)5, 39 SR t qEEH HIST Tﬂﬁgﬁ e fie Tert 05. Identify the place where Guru Gobind Singh
T ¥ WY g% o 98 52 fol ok w6 A 2 stayed for 52 days after the battle with Hill
Kings ?
(1) S e
(1) Dhamtana Sahib
(2) RN TET H ;
(2) Gurudwara Lakhan Majra
(3) RSN A Hred
: (3) Gurudwara Kapal Mochan
@ TEERI THH! Hifest : -
(4) Gurudwara Damdama Sahib
(5) SRRl o = ed
_ (5) Not attempted
96. THITd =1 S9N I Fretared § § fewh ste gt
o ? 96. The Third Battle of Panipat took place
q between :
A1)y e ST i AT e (1) Shah Alam and Muhammad Shah
() T ieR g S ST (2) Guru Gobind Singh and Aurangzeb
(3) R Te SR ARSI (3) Nadar Shah and Aurangzeb
(4) SR WIE STl SRS (4) Ahmad Shah Abdali and the Marathas
(5) TR S IR (5) Not attempted
— “ ; -
97. W%Waﬁi a1 feA 'ﬁ‘TﬁT s 921 1 ST | 97, Which day of every month is celebrated as
e # afere’! % w9 H wAE S ? “Tithi Bhojan Beti Ka Janmadin School me
;i - Abhi »
(1) e R R
; 1 rd
(2)/\ o (1) 3% Tuesday
. (2) 4th Tuesday
(3) Hedl W
. (3) 1St Tuesday
(4) EUHTEER P
2nd Tyesday
(5) S AR S e
(5) Not attempted
. HANTV/ F2 0 1 & f31U Zeer /| SPACE FOR ROUGH WORK Page 21




e R

s

e India’s Environment R
€port ,,

i) , 202
ﬁ:{_(w“ﬁﬂoso) Eﬁ;:ﬁm gaq fawma | 98- As per th
TEEE? ¥ o 7 F what is the rank of Hifyang s 2
(1) achieving gustainable Deve Sty
ESl lopm
@) " (SDG-2030)? ent (
SUCEI (1) 6th
(3) EESI 2) gth
@)~ @ 1
(5) SR W @ 3
0o wed (5 Not attempted
. BRIrn T St
e _ e | 99. consider the foll i
@ FY R fo=m Hife | e Wido:v li::nsisn gcﬁgrlnr:ag_ S:’,::zasttements ah
) 2.1 aEf iR Tud st ﬂTﬂﬁ the Government of Haryana. ate Schey,
b) 399 T 1,800 Wi AE s fa b (a) A woman of age 21 years and
S F | FA-H1/Q o ¥/E fm ¥ b Ie e w
(1) (a) 3 (b) I Ak W)hicht C?I'rles dn allowance of ¥ 1,800y,
(2) T (@) SR AE (b) correct’_? the above statement/s iy
W @) (1) Both (a)and (b)
(4) ¥ (b) (2) Neither (a) nor (b)
(5) ST E < A :i; (a) only
(b) only
100. TR T e SR (hmadd faaic (5) Not attempted
f.'q'{ iaaﬂ EE’"%"Q | 100. Consider the followi
(a) TRATT 1 ot e <1 . Fedieh o S Stats Do fotic Drods statements about(
ryana i ,
mﬂﬁﬁ.ﬁﬁ.ﬁ.ﬁ. M%Fﬁqggﬁﬁ ) Karnataka. na is more than th
3 affew © . GSDP of
| Mahara h .
, _ of Haryan shtra is more tha!
suge # 4 /& T W /%7 idn & &
(1) @ 3z (b) 3 °1°n‘ect ? e above statement/s *
o @RI () Bot &) and [y
(3) FHad (a) o either (a) nor (b
(b) ) (a) only )
5 @ o g; ;1;) only
ot attempted
.000-
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